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Subject Section

1. First compilation on Hadith is
a. Bukhari
b. Muwatta
¢. Musannaf Abdur Razzaq
d. Sahifa Hammam ibn Munabbih

2. Literal Meaning of word Hadith is
a. News
b. Tradition
c. Method
d. Way

3. Ghazwa-e-Badar was fought in the year
a. 2 Hijrah
b. 4 Hijra
c. 3 Hijra
d. 6Hljra

4. How many Muslims were martyred in the battle of Uhad
a. 70
b. 65
c. 80
d. 85

5. Which one of the following is Muslim Scientist?
a. Imam Ghazali
b. lbn-e-Rushd
c. Abu Haitham
d. Abu Huraira

6. Hadith narrated by large number of “Ravi’s is known as
a. Mutwatar
b. Sahih
c. Hasan
d. Zaif

7. Al-Fauz al Kabeer is written by
a. Shah Waliullah
b. Ibn-e-Khaldun
c. lbn-e-Sina
d. Imam Ghazali
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8. Al-Ittigan is written by
a. Jalal-ud Din Suyuti
b. TagiUsmani
c. Allama Zarkashi
d. Ghalam Ahmad Hariri

9. There is no concept of God in the
a. Hindusim
b. Islam
c. Confucius
d. Christianity

10. Land tax is called
a. Kharjj
b. Ushr
c. Rikaz
d. Zakat

11. “Hudabiya Truce” or Sulah Hudabiya was held in the year
a. 8"Hijra
b. 9"Hijra
c. 6MHijra
d. 2"Hijra
12. Jerusalem was first conquered by Muslims during the time period of

a. Usman (RA)

b. Umar b. Khattab (RA)

c. Abu-Bakr (RA)

d. Umar b Abdul Aziz (RA)

13. Allah says, “Wives of Prophet Muhammad (SAW) are mothers of believers” in Surah
An Nahl

Al-Maida

Al-Ahzab

Al-i-Imran

oo o

14. Asbub-un -Nuzul is the knowledge of the
a. Reasons and context of Wahi
b. Meanings of revelation
c. Types of wahi
d. Explanation of wahi

15. Makki time period is
a. 13years
b. 12 years
c. 10 years
d. 8years
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16. Consumers of Zakat /Masarif-e-Zakat are
a. 8
b. 9
c. 10
d 7
17. Old Testament (Toraat) is the sacred book for
Jews
Christians
Muslims
Hindus

cooTe

18. Backbiting / Gheebat has been condemned in
a. Sura Hujurat
b. SuraNur
c. Al-Bagara
d. Sura Ikhlas

19. Word “Ijarah” is being translated as
a. Type of transaction
b. To give something on rent
c. Price of Goods
d. Risk or loss

20. Kitab-al-Kharaj, a classic text on Figh was written by
a. Imam Shafi
b. Imam Abu Yusuf
c. Imam Malik
d. Imam Shaybani

21. Battle of Uhad was fought in the year
a. 3rd Hijrah

b. 5"Hijrah

c. 2"Hijrah

d. 6MHijrah

22. Ibn e Rushd was a

Mathematician
Philosopher
Scientist
Historian

oo

23. Which Khalifa did Jihad against those who refused to pay zakat
a. Hazrat Umar
b. Hazrat Abu bakar
c. Hazrat Ali
d. Hazrat Usman
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24. Spain was conquered by
a. Tariqb Ziyad
b. Musab Nusair
c. Khalid b Waleed
d. Abu Ubaida b Jarah

25. Who was the host of Prophet SAW in Medina
a. Abu Ayyub Ansari
b. Abu Huraira
c. Abu Khuzaima Ansari
d. Usamab Ziad

26. What was the name of Imam Bukhari (R.A)?
a. Muhammad bin Ismaeel
b. Muhammad Ismaeel
¢. Muhammad Ibraheem
d. Ismail Bin Ibraheem

27. Which country is called the “Land of Prophets”?

Saudi Arabia
Sham

Iran

Irag

oo

28. Banu Quraiza, Banu Nadir and Banu Qainuqga were three tribes of
the ?

a. Muslims

b. Christians

c. Jews

d. None of these

29. Social boycott of Banu Hashim took place in

Makkah
Madina

Taif

Banu Ghatfan

oo o

30. First police department was established by
a. Hazrat Abu Bakar
b. Hazrat Umar
c. Hazrat Usman
d. Hazrat Ali
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31. Subject of Holy Quran is?
a. Universe
b. Earth
c. Animal
d. Human Being
32. Zakat is also called:

a) Pure act
b) Poor rate
c) Extraspending
d) Help of the poor
33. In which surah of Holy Quran Allah says that “I reveal this book and I am its
protector”?
a) Noor
b) Al Hijr
c) Fatiha
d) Ikhlaas
34. Which Holy Book is called the Old Testament / Ehad NamaQadeem
a) Torat
b) Zabur
c) Injeel
d) Quran
35. ‘Mudarabah’ is a kind of:
a) Sale
b) Partnership
c) Leasing
d) None of these
36. ‘Riba Al Nasiah’ is a kind of interest which is prohibited in:
a) Quran
b) Hadith
c) Qiyas
d) None of these
37. Who was the eldest son of the Holy Prophet (PBUH)?
a) Hazrat Qasim
b) Hazrat Ibraheem
c) Hazrat Abdullah
d) None of these
38. Sahifa Abu Hurairah was narrated by his able student Hamam bin Munabbih. What
was the real name of Abu Hurairah?
a) Hazrat Abdul Rehman bin Manhar
b) Hazrat Abdulla bin Manhar
¢) Hazrat Huzaifa bin Manhar
d) Hazrat Usman bin Manhar
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39. What was the religion of Banilsrail?
a) Parsiism
b) Christianity
c) lIdolatory
d) Judaism
40. Name the tribe which broke the treaty with the Holy Prophet (S.A.W.) in the battle of
Ahzab?
a) Banu Quraiza
b) Bani Khazraj
c) Banu Mustalag
d) Banu Aos
41. Qur’an in English language was translated by
e) Marmaduke Pickthal
f) Mufti Tagi Usmani
g) Shabbir Ahmad USmani
h) Maulana Maududi
42. The following book is written on Ulum al Hadith
a) Nukhbatul Fikr
b) lIttigaan
€) Usul ash Shashi
d) Tafsir ibn-e-Kathir
43. Egypt was conquered by
a) Abu Ubaida bin al Jarrah
b) Amar bin al Aas
c) Khalid bin Waleed
d) Ayyub Ansaari
44. Kaab bin Ashraf was murdered by
a) Umar bin Khattab
b) Muhammad bin Muslima
€) Abu Ayyub Ansari
d) Usama bin Zaid
45. Ameer of the First Hajj of Islam was
a) Hazrat Usman Ghani
b) Hazrat Bau Bakar
C) Hazrat Ali
d) Hazrat Umar Farooq
46. Who died last among then ummahaatul Mumineen
a) Umm e Salama
b) Hazrat Ayesha RA
C) Hazrat Hafsa RA
d) Hazrat Zainab bint-e-Jahash
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47. Madina Pact (Meethaag-e-madina) was concluded between
a) Jews and Christians
b) Jews and Muslims
€) Muslims and Christians
d) Muslims Migrants and Ansaar Msulims
48. A Hadith agreed by Muslim and Bukhari is known as
a) Muttafaq Alayeh
b) Shaikhain
c) Sahibain
d) Marfu
49. Muhazrat-e-Qur’an and Hadith is the compilation of the lectures of
a) Dr. Muhammad al Ghazali
b) Dr Hamidullah
c) Dr. Mehmood Ahmad Ghazi
d) Mufti Tagi USmani
50. Seerah studies is the study of
a) The life and biography of the Prophet Muhammad SAW
b) Translation of Quran and Interpretation
€) Study of the sources on History
d) Study of the Arabic Language

English Section

Antonyms:
51. Abundant:
a. Ample
b. Enough
c. Great
d. Scant
e. Copious
52. Abusive:
a. Woretched
b. Decent

c. Compulsory
d. Respectful

e. Offensive
53. Accepted:

a. Followed

b. Noted

c. Provided

d. Considered

e. Rejected



University of Management and Technology, Lahore.
UGAT for candidates of M.Phil ITC and M.Phil IS (Seerat) Degree Programs

54. Ancestor:

a. Pioneer

b. Forefather

c. Ancient

d. Backward

e. Successor
55. Benevolent:

a. Malevolent

b. Hard

c. Feeble

d. Philanthropist

e. Generous
56. Gratitude:

a. Woretched

b. Ingratitude

c. Unfaithfulness

d. Wickedness

e. Appreciation
57. Hostile:

a. Friendly

b. Opposed

c. Humid

d. Cruel

e. Aggressive
58. Hypothesis:

a. Fact

b. Theory

c. Conclusive

d. Suppressed

e. Assumption
59. Ignite:

a. Kindle
b. Excite
c. Agitate
d. Extinguish
e. Rouse
60. Inspired:

a. Overwhelmed
Dispirited
Disillusioned
Skeptical
Motivated

o o0 o
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61. Irrational:

a. Logical

b. Unreasonable

c. Absurd

d. Crazy

e. Useless

Short Passage Comprehension
Direction:

Read the passage carefully once and detect its theme. Note what the questions are about.
Answer the questions.

PASSAGE 1

It is difficult to reconcile the ideas of different schools of thought on the question of education.
Some people maintain that pupils at school should concentrate on a narrow range of subjects which will
benefit them directly in their subsequent careers. Others contend that they should study a wide range of
subjects so that they have not only the specialized knowledge necessary for their chosen career but also
sound general knowledge about the world they have to work and live in. Supporters of the first theory state
that the greatest contributions to civilization are made by those who are most expert in their trade or
profession. Those on the other side say that, unless they have a broad general education, the experts will be
too narrow in their outlook to have sympathy with their follows or a proper sense of responsibility towards
humanity as a whole.

Multiple Choice Questions (MCQs)
62. ‘Schools of thought’ can be explained as:
A. Group of people who study in a particular school thoughtfully.

Group of people having the same ideas but with different perception on a particular subject

Group of people whose job is to think

O 0O w

Group of people who are schooled to think

63. Broad general knowledge is necessary because:

It teaches us about different things
It broadens one’s outlook

Specialization is incomplete without it

o w >

Without it no one would get a job
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64.

A
B.
C
D

Cow>»

Cow>»

The idea of the first school of thought in the passage is that:

. Students should study all the subjects they want to

Students should study a few subjects that will help them in their profession

. Students should concentrate on studies
. Students should not undertake any specialized work

. Supporters of the first theory say that:

Experts have done nothing to help mankind

People with general knowledge are more useful than experts
Experts have contributed most to progress in the modern world
People with general knowledge have contributed to civilization

. According to the second school of thought, education will not be very effective if pupils:

Ignore the study of fine arts

Have nothing but general knowledge

Have inadequate knowledge of their own work
Do not have a wide general education

PASSAGE 2

It is to progress in the human sciences that we must look to undo the evils which have
resulted from knowledge of the changes in themselves that the new knowledge has made
imperative. The road to the happier world than any known in the past lies upon before us if atavistic
destructive passions can be kept in leash while the necessary adaptations are made. Fears are
inevitable in our time, but hopes are equally rational and far more likely to bear good fruit. We
must learn to think rather less of the dangers to be avoided than of the good that will lie within our
grasp if we can believe in it and let it dominate our thoughts. Science, whatever unpleasant
consequences it may have by the way, is in its very nature a liberator, a liberator of bondage to
physical nature and in to come, a liberator form the weight of destructive passions. We are on the
threshold of utter disaster or unprecedentedly glorious achievement. No previous age has been
fraught with problems so momentous; and it is to science that we must look to for a happy future.

Multiple Choice Questions (MCQs)

. What does science liberate us from? It liberates us from:

Idealistic hopes of a glorious future

Slavery to physical nature and from passions
Bondage to physical nature

Fears and destructive passions
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68. To carve out a bright future a man should:

A. Cultivate a positive outlook
B. Analyse dangers that lie ahead
C. Try to avoid dangers

D. Overcome fears and dangers

69. If man‘s bestial yearning is controlled:

The future will be brighter than the present
The future will be tolerant

The present will be brighter than the future
The present will become tolerant

SO w>»

70. Fears and hopes, according to the author:

Avre irrational

Avre closely linked with the life of modern man
Can yield good results

Can bear fruit

Cow>»

71. Should human sciences developed because they will:

Make us conscious of the changing world

Provide more knowledge of the physical world

Eliminate the destruction caused by a superficial knowledge of the physical world
Make us conscious of the changes in ourselves

OO wm>»

PREPOSITIONS
DIRECTIONS:

In each of the following questions, four alternative sentences are given. Choose the correct one and fill
the circle corresponding to that letter in MCQ Response form.

Q.72

A. The pollution in the city had a bad effect about me.
B. The pollution in the city had a bad effect for me.
C. The pollution in the city had a bad effect in me.

D. The pollution in the city had a bad effect on me.

Q.73

They go in the living room and Mr. Aslam sat in Javaid’s chair.
They went into the living room and Mr. Aslam sat in Javaid’s chair.
They went in the living room and Mr. Aslam sit in Javaid’s chair.

SO w>»

They went into the living room but Mr. Aslam sat in Javaid’s chair.
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Q.74

A.
B.
C.
D.

Q.75

SO w>»

Q.76

SO w>»

Q.77

OO wm>»

Q.78

0o w >

Q.79

O 0o w >

In the morning, as she left the apartment, Sajidah saw the card on the table.
At the morning, as she left the apartment, Sajidah saw the card on the table.
At a morning, as she left the apartment, Sajidah saw the card on the table.
On the morning, as she left the apartment, Sajidah saw the card on the table.

Zubair remain at the table, staring for his coffee.
Zubair remained at the table, staring on his coffee.
Zubair remaining at the table, staring on his coffee.
Zubair remained at the table, staring into his coffee.

When he had gone, Amar tore it in half and tossed the pieces in the table.

When he was gone, Amar tore it in half and tossed the pieces into the table.
When he was gone, Amar tore it in half and tossed the pieces onto the table.
While he was gone, Amar tore it in half and tossed the pieces into the table.

PRONOUN

Him and | had planned to spend vacations in hilly area.
He and I had planned to spend vacations in hilly area.
Him and me had planned to spend vacations in hilly area.
His and | had planned to spend vacations in hilly area.

| admit that it were my fault to rely on he.
I admit that it was mine fault to rely on him.
We admit that it was mine fault to rely on him.

I admit that it was my fault to rely on him.

I make a handsome gift to him.
I made him a handsome gift.
I made a handsome gift to himself.

I making a handsome gift to him.
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Q.80

A. Their did it themselves.
B. They did it themselves.
C. Them did it themselves.
D. They had did it themselves.

Quantitative Section (10 Questions)

Instructions: Find the correct answer. Do not use calculator or cell phone in this part. However,
you can do rough work /calculations on a scrap paper attached at the end of this booklet.

81. Find area of rectangle; length 3x and breadth 5y

3x+5y
15xy
15x
15y

3X * by

® a0 o

82. Mid-point of (2,-2) and (-2, 2) is?

2,2
0,0
-2,-2
1,1
-1,-1

® o0 oW

83.0.7683 + 0.369 + 0.05 + 0.8 =7?

0.009873
0.09873
0.9873
1.9873
2.9873

® a0 o

84. If 4x + 12 = 36, what is the value of x?

3
6
9
12
18

® o0 T
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85. The square of 23 is

529
526
46
429
92

® o0 o

86. The value of 3(4x-5)+6 for x=3

6
66
106
20
27

® o0 o

87. The expression 7xy has the factors

7,X,y
X, Y
7.X

17y
7

® 00 oW

88. The arithmetic mean or average of 2, 4, 2, 4, 2, 4.

3
2
4
0
2.5

® o0 o

89. What percentage of tourist went to USA and Japan?

a. 40%
b. 30%
c. 70%
d 10%
e. 50%
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90. What is 35% of 1607?

a. 26
b. 36
c. 46
d. 56
e. 66
ANALYTICAL QUESTIONS
Paragraph

In an examination, Rizwana has more marks than that of Fauzia. Shugufta has fewer marks than that of
Zahid. Fauzia and Abid have more marks than that of Shugufta.

91. If the above is true, which of the following must also be true?
a. Fauzia has fewer marks than that of Shugufta

Rizwana has more points than that of Shugufta

Fauzia has fewer points than that of Zahid

Zahid has more points than that of Rizwana

Zahid has more points than Abid has

© o0 o

Paragraph

Many people do not read the books they purchase. For example, seventeen percent of college students in
Pakistan have text books, but only forty-five percent of them read more than once a year, and only
seventeen percent read more than once a week.

92. Which of the following if true, casts doubt on the claim that most people read the books
they purchase?

regular book readers are most susceptible to eye diseases

readers often exaggerate about their book reading

many people buy books to pretend themselves as a scholar

the sale of novels is more than that of other types

Reading speed is increased by frequent readings.

moowp

Paragraph

Classical music occupies a unique and peculiar position in every culture. They are imperishable as
cultural landmarks, but the emotions expressed in some of the folks are often superseded by newer tunes.
However, the classics survive just as heritage, as imposing features of the society, yet unsuited for
habitation unless remodeled.
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93. The principal point put forth in the above passage is that classical works.

Ignored by young generation

Is an obstacle in the development in new tunes

Should be stored in museums

Lose their distinctive features as time passes.

Need our respect and admiration even if their tunes and ideas they express are no longer
current.

® o0 o

Paragraph

People should be held accountable for their own behavior, and if holding people accountable for their
own behavior entails capital punishment then so be it. However no person should be held accountable for
behavior over which he or she had no control.

94. Which of the following is the most logical conclusion of the argument above?
a. People should not be held accountable for the behavior of other people.

b. People have control over their own behavior

c. People cannot control the behavior of other people

d. Behavior that cannot be controlled should not be punished

e. People have control over behavior that is subject to capital punishment.
Paragraph

As any economist knows, healthy people pose less of an economic burden to society than unhealthy
people. Not surprisingly, then, every rupee our government spends on prenatal care for undocumented
immigrants will save taxpayers of this country three rupees.

95. Which of the following, if true, would best explain why the statistics cited above are not
surprising?

a. The tax payer pays for prenatal care of all immigrants

b. Pregnant women who do not receive prenatal are more likely to experience health
problems than other pregnant women

c. Benefits for prenatal are serve to promote undocumented immigration.

d. Babies whose mothers did not receive prenatal care are just as healthy as other babies

e. Babies born in this state to undocumented immigrant parents are entitled to infant care
benefits from the government.

Paragraph

In a psychological experiment conducted at South Bay University, groups of men with various levels of
education read stories in which people caused harm some of them doing so intentionally, and some
accidentally, when asked about appropriate penalization. For those who had caused harm, the less
educated men, unlike the educated ones, assigned punishments that did not vary according to whether the
harm was done intentionally or accidentally. Uneducated men, then, do not regard people’s intentions are
relevant to penalization.
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96. Which of the following, if true, would most seriously weaken the conclusion above?

a. Inthese stories, the severity of the harm produced was clearly stated

b. Ininterpreting these stories, the listeners had to draw on a relatively feminine sense of
human psychology in order to tell whether harm was produced intentionally or
accidentally.

c. Relatively uneducated men are as likely to produce harm unintentionally as are more
educated men.

d. The more educated men assigned penalization in a way that closely resembled the way
women had assigned penalization in a similar experiment

e. The less educated men assigned penalization that varied according to the severity of the
harm done by the agents in the stories.

Paragraph

Wheat has more nutritional value that rye. But since oats have more nutritional value than rice, it follows
that wheat has more nutritional value than rice.

97. Any of the following, if introduced into the argument as an additional premise, makes the
argument alone logically correct EXCEPT:
a. Wheat and oats have the same nutritional value

b. Rye has more nutritional value than oats

c. Rye has more nutritional value than rice

d. Rye and oats have the same nutritional value.

e. Oats have more nutritional value than wheat.
Paragraph

A famous painter has recently won a lawsuit against a major food manufacturer for commissioning a
graphic designer to design the packaging of its chocolate chip cookies in the painter’s distinctive stule. As
a result of the lawsuit, manufacturers will stop asking graphic artists to copy distinctive painting styles.
Therefore, the cost package design will rise because employing the services of known artists cost more
than those of graphic designer that imitate their style.

98. The conclusion above is based on which of the following assumptions?
a. Most people are unable to distinguish a famous artist’s illustration from that of a good
graphic artist imitating the painter’s style.
Manufacturers will use well-known painting styles in their packaging
The original version of some well-knows paintings are unavailable for use in packaging.
d. Manufacturers will continue to use graphic artists to imitate the artistic style of famous
painters
e. Packaging using a famous painter’s style usually sell beer than packaging using the
artistry of imitators.

oo

Paragraph

Many community colleges suffer declining enrollments during periods of economic recession. At
government retraining programs, which are not provided free of charge, enroliment figures boom during
these periods when many people have less money and there is more competition for jobs.



University of Management and Technology, Lahore.
UGAT for candidates of M.Phil ITC and M.Phil IS (Seerat) Degree Programs

99. Each of the following, if true, helps to explain the enroliment increases in government
retraining programs above EXCEPT:

a. During periods of economic slowdown, government retraining programs are more likely
those community colleges to prepare their students for the jobs that are still available.

b. During periods of economic prosperity, graduates of government retraining programs
often continue their studies in community colleges.

c. Tuition at most government retraining programs is a fraction of that at community
colleges.

d. Government retraining programs devote more resources than do other colleges to a
racting those students especially affected by economic slowdowns.

e. Students at government retraining programs, but not those at most community colleges,
can control the cost of their studies by choosing the number of courses they take each
term.

Paragraph

Parents of some of the students in particular class have claimed that the teacher is not objective and favors
his male students with higher grades. But the record passing grade in this teacher’s class. This record
demonstrates that the teacher has not discriminated against women when assigning grades

100. The argument above is flawed in that it ignored the possibility that

a. A large number of the teacher’s student were in his class the previous year.

b. Many teachers find it difficult to be objective when assigning grades to male and female
students.

c. The evidence shows that more than 92% of the female students should have received a
passing grade

d. The majority of tests written by female students and that have been rechecked by another
teacher were given a higher grade by the second teacher.

e. The teacher is biased against female students in the case of only some of the subjects he
teaches



